
76

90
0

18
0

38
5

90
0

27
0

90
0

Markyta

Ö04-00M Ö04-00PM Ö04-01M

Markyta

Markyta

Ö04-00N Ö04-00PN Ö04-01N

Fundament

Gummipackning
Stoppskruv

76

Spåret anger 
pollarens riktning.

 4
50

 

 300 

Ground level

Fastening socket M

In place cast foundation.
Cast in paper tube, 
alternatively plastic pipe.

Fastening socket N

Installed with chemical anchor in 
concrete foundation or 
equivalent underlay.

Dimensions of anchor/thread rod: 
M16 + nut and washer, 
alternatively expander bolt M16 + 
screw M6M x 120mm.

 60,3 

 4
00

 

 5
00

 

Fastening socket M

Alternative installation with 
prefabricated foundation 
"MEAG".

 Saferoad Art.nr. 600500.
Ground level

G

F

 1
00

 

DETAIL F
SCALE 1 : 10

Marknivå

DETAIL G
SCALE 1 : 10

The Hoop bollard is available in two 
variants of fastening socket. Model N 
and M

Fastening socket N is installed at 
ground level with an M16 chemical 
anchor or expander bolt.

Tightening torque M1 - 200 Nm

Fastening socket model M is cast into 
a cast in place foundation. Excavate 
to forst free depth if possible, install a 
base of drainage material and cast 
pipe in a foundation of 
approximately Ø300mm.

Alternatively install prefabricated 
foundation "MEAG". Saferoad Art.nr. 
600500.

IMPORTANT is that the fastening 
socket's upper edge is 100 mm 
above ground level.

Hoop is subsequently installed using 
the three included countersunk M10 
screws.

www.nola.se

Headoffice: Nola Industrier AB Repslagargatan 15b Box 17701
 
 
 

S-118 93 Stockholm T:+46(0)8 702 19 60 F:+46(0)8 702 19 62
 
 
 
 

E:headoffice@nola.se Sales/showroom: Skeppsbron 3
 

 
 

S-211 20 Malmö T:+46(0)40 17 11 90 Orderfax:+46(0)40 12 75 45

sid 1/2HOOP
MONTERINGSBESKRIVNING



76

90
0

18
0

38
5

90
0

27
0

90
0

Markyta

Markyta

Markyta

Fundament

Gummipackning
Stoppskruv

76

Spåret anger 
pollarens riktning.

B

A

DETAIL A

Screw M16x120mm

Tightening torque:
200Nm

Fastening socket N

DETAIL A

DETAIL B

Hole Ø14mm for
reinforcing rod
when cast in place

Fastening socket M

3x M10 screw

DETAIL B

D

 1
00

 

DETAIL D
SCALE 1 : 5

Ground level

F

DETAIL F
SCALE 1 : 5

DETAIL F
SCALE 1 : 10

Upper edge shall extend
100mm above ground level

Till Hoop pollar finns två varianter 
av fastsättningsstos. 
Fastsättningsstos modell N fästes i 
marknivå och förankaras med 
kemankarstång M16 alt. 
ankarhylsa. Åtdrgasmoment M16 
290-300Nm. Fundamentet 
undergjuts i mark.

Fastsättningsstos modell M gjuts in i 
platsgjutet fundament mark. 
Fastsättningsstosen ovankant ska 
sticka upp 100mm ovanför färdig  
marknivå Gräv till frostfritt djup om 
möjligt, grunda med dränerande 
material och gjut i rör ca Ø300.

Alternativt monteras i prefabricerat 
trafikfundament "MEAG" 
fundament. Saferoad. Art.nr. 
600500.

Slutligen monteras Hoop på 
fastsättningsstos med tillhörande 
försänkta M10 skruv

3x M10 screw

Ovankant ska sticka 
upp 100mm ovanför 
färdig  marknivå

N M

www.nola.se

Headoffice: Nola Industrier AB Repslagargatan 15b Box 17701
 
 
 

S-118 93 Stockholm T:+46(0)8 702 19 60 F:+46(0)8 702 19 62
 
 
 
 

E:headoffice@nola.se Sales/showroom: Skeppsbron 3
 

 
 

S-211 20 Malmö T:+46(0)40 17 11 90 Orderfax:+46(0)40 12 75 45

sid 2/2HOOP
MONTERINGSBESKRIVNING


	Sheet1
	Drawing View1
	Drawing View4
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View30
	Drawing View32
	Detail View F (1 : 10)
	Detail View G (1 : 10)

	Sheet1(3)
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View52
	Drawing View54
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View56
	Detail View D (1 : 5)
	Drawing View58
	Detail View F (1 : 5)


